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Answer the following questions in aboiit 150 words each :
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Explain how equilibrium rate of interest and income are determined with {4,
interaction of both product and money market.
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Distinguish between post-Keynesian approaches to horizontalist and
siructuralist theory of endogenous money supply.
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Explain how renewable resources will play a role in future economics.
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Mention the classification of assets held by a commercial bank. Discuss the
problems faced by commercial bank due to rise in NPAs. '
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Explain Myrdal's cumulative causation theory as the theory for development.
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What is conjectural variation? Show how some models of oligopaoly are derived
on the basis of it. 1S
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Show that systematic monetary and fiscal policies are ineffective in controlling
output and price level.
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fii What makes technical progress endogenous? Do you think that

technology is a ‘non-rival' good? o e
Show that if the research becomes more suchessiul, the growth ta o

will increase and hence the standard of living
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#w‘ five reascnable conditions which o sacial welfare finetiom mioess
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| i the context of international trade theory, discuss in detail the Vationesizace;

of the internaticnal product life eycle. = 4
B s the dssue of cimpaubiliy: between intematens’; SRR
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Ynesian specyulative demand for
model. Point gyt

exXpectation
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Two firms produce homogeneous outputs with cost [ unﬂﬁﬂmd;=q$i;'¢i;{=gg§_-
_, and the inverse market demand function P =100 ~{q, +q,) Show that at the
= Courngt-Nash equilibrium, firm 2 makes higher profit than at the joint profit
maximizing equilibrium, Explain why this is 80. 20
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Explain the recent changes in the trade and investment flows among
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i countries in the world. Discuss the major factors that led to these changes. 8¢7=15
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I an economy with enly two commodities, two consumers and two ey
th single factor of production, derive the necessary conditions for Parets
stimality in a ‘perfect’ economy,
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~ Discuss different forms of subsidies. Explain how perverse subsidies are
" detrimental to the economy and envifonment in the long run.
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